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NAME GROSS| H' cp NET NAME GROSS | H' cp NET NAME GROSS | H' cp NET
Ty &S| 79| 96| 69.4 |43k BF FH 4| 87 [120] 75.0 |85 |EFE & By 99 [20.4 78.6
2 KB fBEER 83 120 | 71.0 |44 |h [y FOE| 80 | 4.8 75.2 |86 |HE EHEEF 105]26.4| 78.6
SN BE 75| 3.6 71.4 |45 |FLE {EF| 92 [16.8 | 75.2 |87 |FF F HB k| 87 | 8.4 78.6
Al B — A| 74| 2.4 71.6 |46 |F A RLE 97 |21.6 | 75.4 [88|F K F i 93 144 78.6
5 ch & 2 BE| 92 (204 71.6 |47 | B JEE| 102|264 75.6 |89 |=mH & —| 87| 8.4 78.6
6FBE S F| 91 [19.2 T71.8 |48 A FF| 9 |144 756 [0 |F ) fFEK| 81| 2.4 78.6
TIER & F 9 192 71.8 |49 |F FEF 108 (324 | 75.6 |91 P fE 92 13.2 | 78.8
8RB IIE&E 9 240|720 (50 BA BTE=| 9% 192 75.8 (92 A & iZ| 98 [19.2 | 78.8
= B% 2| 89 [16.8 | 72.2 |51 |2 E EIE| 9 [19.2|75.8 |9 |H B a8, 101 |21.6 | 79.4
10/fR &8 FH #0| 105 |32.4 | 72.6 |52|sh F E == 95 (19.2 | 75.8 |94 |=m A F1A| 9% 144 | 79.6
e A B 81| 8.4 72.6 |53 A FEZ 101252 75.8 |95 |FH K HE BI 100 20.4 | 79.6
12 A #EiE 92 |19.2]72.8 |54 BIE 95 (192 75.8 |96 3E #F & 105 25.2 | 79.8
1B{EHE #®Zz 97 240 73.0 (55| A& {-#4E 94 [18.0 | 76.0 |97 FRZE ZH HE 99 [19.2] 79.8
1450 7t E 79| 60| 73.0 |5 |4 WL g0 g8 (120 76.0 |98 | F A B E| 87| 7.2 79.8
153 55 B85 |12.0 | 73.0 |57 (I & #4100 240 | 76.0 |9 (8 UV & H| 105 252 | 79.8
16/ B = & 9 |16.8 | 73.2 |58|{E H f@ B 82 | 60| 76.0 |00/ @ T BA 92 |12.0 | 80.0
1780 /8 Bg | 9 |21.6 | 73.4 |59 |dt 48 BB & 87 | 10.8 | 76.2 |101;A] Bf 7 B 115 | 34.8 | 80.2
187/ N =) 95 |21.6 | 73.4 |60 (38 JI] F 4R 99 22.8 | 76.2 |102(B§ & & A| 102 |21.6 | 80.4
198 4 ZE F| 95 |21.6 | 73.4 |61 B FF 47 S 99 22.8 | 76.2 |103;BF /IEHE| 108 | 27.6 | 80.4
0ME FTA 89 156 73.4 |62 lum = —| 8 (108 76.2 |04 FH = E| 100 | 19.2 | 80.8
0K HE Bkl 94 2.4|73.6 6328 HE| 104276 76.4 |105#3 @ = BA 99 |18.0  81.0
2F M@ E—| 8 |14.4|73.6 |64|E M (£ 9 [13.2]76.8 |106FEMH K& 110288 81.2
BN FE E| 94 120.4|73.6 |65 |FEHE 1E I 96 [19.2 76.8 |107|F H & F| 103 |21.6 81.4
24|1% B% M 99 [25.2 | 73.8 |66 F 1U T 94 (168 77.2 (1084 HF ZAH| 91| 96 81.4
BIKE IEK| 8 | 727386720 HE 82 | 48 712 |1098 H S¢| 115 |33.6 | 81.4
2|1 & S 81 | 7.2 73.8 |68 \hnHE  BE M| 93 |15.6 | 77.4 |10/t E A RR 3| 97 |15.6 | 81.4
21\F K ¥ETh 92 (180 | 74.0 |69 P H A& 8 | 9.6 77.4 [1mp/NE  EF| 119372 | 81.8
Bh B fZE 98 240|740 |70 B FHEE| 9 (204 77.6 |112|%H =2 9 168 82.2
9tnpEE = HE| o1 168|742 |1 B HE| 98 204 77.6 |13 LK 8| 10324 82.6
0/dt B RE 3 102276 | 74.4 | 12183 K FE| 109 [31.2 | 77.8 |14\ & & )il 8h| 119 [ 36.0 | 83.0
I & —| 9 (156 | 74.4 | 13| F ih @ 97 [19.2 | 77.8 |115\/N & E & 115 [31.2 | 83.8
RIKX % F| 9 |15.6  74.4 |14 |iBE & 91 [13.2 | 77.8 |16/ B IE X| 120 | 36.0 | 84.0
BIF AR A 89 |14.4| 74.6 |5|J)\ K E B 103 [25.2 | 77.8 |11T[{R R %4 3E 113 28.8 | 84.2
MITH FH R 89 [144 746 |76 B 3L & 102 [ 24.0 | 78.0 |118|lu A £ —| 113 |28.8 | 84.2
35|= M FI4=| 89 (144 | 74.6 |77(Iu A E 5h 9 |[18.0 | 78.0 |119|$k HH BEE 3| 124 |39.6  84.4
6| A HI—| 9 (204 | 74.6 |78 |6 H&E HE E| 9 |[18.0| 78.0 |120/E F FE 122 136.0 | 86.0
37E K B 82 | 7.2 74.8 |19 |k & E| 9 |16.8 | 78.2 121\ FH & 2 —| 114 | 27.6 | 86.4
BIAEE Hth 100252 | 74.8 | 80| @k FF| 112 33.6 | 78.4 |122|3xRFHME = —| 124 |36.0  88.0
| {FHE Bth 82 72748 |81 | KE EE| 106[27.6 78.4 [123 K4 B 128 324 95.6
WWHE B R 94 (192 74.8 |2 |AHE ML 88| 96| 78.4
“MiE ¥ F=| 87 (120 | 75.0 |83 /N B HE FE| 100 |21.6 | 78.4
2\Y 78 3% 58| 87 (120 75.0 |84 |FRH = k| 100 |21.6 78.4
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